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ERE V= o= Kk (CRAE) ot HTJE HiE Fifk aAvb
1 6 1102 AR O»Y (&E3) IR eh) T4 FFEE e 14.21
2 3 865 FAEE HEGE2) A Hh3 T NBFNFBE T g i 14. 42
3 1 600 EfE FLEGE1) EEIEDN T T2ERG & 14.67
4 7 708 R AR E2) AV Y] T THEE 14. 68
5 8 434 JBEH B (R 2) LVLEE TN T4 [v=w X1 14.72
6 5 353 /bR INZEGE 3) EIN O T i [ B v 15. 03
7 4 440 I R (R 2) WY v T4 R 15. 30
8 2 581 HEJII HR(GE 2) KAy <3 E HORHI & 15. 37
38%ﬂ JEL:+0. 5
[ A 2 2 Pl - R G =i ) bi P Bt gk aAvb
1 4 1103 A &7 G(E3) LAREE T4 FIFEER A& 14. 01
2 7 466 ARk EHIRF (R 3) AR ¥ 72 T4 THEWE S 14. 44
3 6 1909 1Lk #EGE2) V=Y T4 & 14. 56
4 5 835 PHA ME(R 3) T 2 T4 B S PN 14. 75
5 2 91 FEEB LI NN T4 PR 15.10
6 1 35 EiF FVx (1) W )z T4 R e 15. 40
7 8 638 &% FKAEGE1) HHT 3 T4 THA® 15. 43
3 866 LHl KEGE?2) vF) bER T4 WBFNFBE F5 5 i DNS
39540 A +0. 6
ERE V= o= Kk (CRAE) ot H S HiE Fifk aAvb
1 4 856 4 L (E 1) )y T T NRAFN Bt T g i 14.39
2 7 869 LI FiFH(E 2) W Uk T3 NBFNFBE T g i 14.71
3 6 904 AJIl Oed (13) vy et/ T FHINFE 14.76
4 5 570 #%E KT (E2) 177 a%a T DA 14. 86
5 2 34 B HEAGEL) EV VI VES T iR 15. 30
6 3 141 /MR EEGE3) an gy 3y T Fes 15. 32
7 8 834 JbA EKE(GE3) EVIVE Vi T THERE K = 15.51
40%ﬂ Ja:+1. 4
[ A 2 2 Pl - R G =i ) bi P Bt gk aAvb
1 71959 4B RhE(E2) 120 % b T4 EBHR 14. 78
2 6 31 KR A (R 2) kv AVAVIAN T4 R 14. 83
3 2 462 mA FEEGE3) VYA T4 PUHTIE 15.01
4 4 1872 MR Ing EL T4 13U 15.15
5 5 1877 # ®HX (1) Ny ozt T4 THA® 15. 20
3 1116 Al TEFEGE 1) A4 % Ftu T2 A R e DNS
8 1924 WE EH(E2) PRy 223 T2 FIFEER A& DNS
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4 %100m
WM R R AR
EREE Bl FBE

JRicsk (CR) 11.62 Wi gt (T4 - $-b 3/ 7abFy)) 2011. 5. 22 45221 10:40 Z A KL—A
41%ﬂ JEL:+1. 2
[ A 2 2 P - R G =i ) i P Bl gk aAvb
1 1 1957 & BT g 14. 49
2 5 1200 ZEHE =@ 2) LEAVAROR T2 ORI = 14. 65
3 8 464 MR EFE(GH 3) TANG b T4 U E AL R 15.59
4 2 1924 BAR EEGE2) FVEN 29 T4 FIFEER A& 15.59 *TK
5 6 1236 /hH O EEFEGE2) T T2 e S PN 15. 80
3 867 i HAR(GE 1) DhFaT vk T3 ki tiot= DNS
41754 BRI #HT(FE2) WY Fxa T2 TSN DNS
7 217 JR O #h (R 2) IR T4 THFEm DNS
4248 A +0. 6
ERE V= o= Kk (CRAE) ot HTJE HiE Fifk aAvb
1 6 601 Ml BEEGE 1) w7 TEh EE THERG & 14. 50
2 8 1982 EHH EFE EVZAR SN T B 14. 84
3 4 1949 /NR O EMGE 2) 7 A T FIEREE 15. 04
4 2 1913 B HEGE2) 7Y 2% T THELE 15. 05
5 3 218 R KHEEGE2) By alz T2 AE =] 15. 62
6 7 828 WA DEFI(KF) Fhh7 )73 T4 HAKRAFET 15. 84
5 665 HAAR E(HE2) AEh % T THELE DNS
43%ﬂ JE:+1. 1
[ A 2 2 Pl - R G =i ) bi P Bt gk aAvb
1 7 15 B #HEG3) vk 73 T4 RS 13. 04
2 2 1137 i\ EEGE3) Y F T2 IAFn= e e 14. 00
3 8 658 ZH ERGE3) Bpoaky T4 THeLoE 14. 21
4 4 1948 )Ilm EAGE2) VLZANERVES T2 THEWE S 14. 73
5 6 1958 JEUH FFEGE2) I/ AP T4 U E AL R 16. 63
3 554 #{ KEF(R2) £) 7%a T2 HHAR DNS
5 1614 #HF FEETGEH2) 17" 133 T4 LAYRIES] DNS
44548 A+ 1
A A 2 P2 - v L i o) ot H S HiE Fifk aAvb
1 6 25 AME #@E2) N NEER T3z Pl SN e 13.58
2 4 16 %8 & (& 3) ) axh T3 B 14. 04
3 5 980 i H(E2) Yoz e T A K &S & 14. 06
4 7 661 A A= 3) b4y )Y T THELE 14.29
5 3 992 A ERGE 1) VAN T RS 14. 44
6 2 899 HfW WHEGE1) VARGUIAN T A H 14.91
7 8 995 AT HRELD (E2) Fhh7 TV T HORUE RIS & 15. 36
4551 JE:+0. 6
[ A 2 2 Pl - R G =i ) bi P Bt gk aAvb
1 6 1 ORE O EERGLD) T b T4 AREEBA = 13.71
2 8 24 [ES ST (FE2) TAT A T4 RS 13. 94
3 7 993 itk HXGE 1) AN T4 RS 13.98
4 4 4 &F T=%GE1) bt 74 T4 AR EBA = 14. 25
5 2 3 B RE@EL) ) TYh T4 AR EBA = 14. 26
6 3 72 FHWE O EAGE 1) vy T4 AR EBA = 15. 16
5 994 A B 1) yay 937 T4 RS DNS
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